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MATHEMATICS (SCIENCE)

Q.Paper : II (Objective Type )

Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
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two or more circles will result in_zero mark in that question.
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(PART -1 Ust» )
12 2. Write short answers to any SIX (6) questions : oL IONT < AL =y (6){::..(3:( 2

(i) Write the quadratic equation in standard form : 2B A tsbr Gy (D)
5 et
(ii) Solve the equation by quadratic formula : 4x2 —14=3x :ZE iyl =bhEms (i)
(iii) Define radical equation. Ty SSbl-Bve  (ii)
(iv) Write the quadratic equation from given roots : 2yl J-J”)C-J uﬁz,_., Gv)
342 3B
(v) Evaluate : (2+ 20 - 20°) (330 + 30%) ZEered (V)

-ér)l”u‘.ﬂ/éwbiﬂi!f(d)ld: 2px2 +3gx—4r =0 bl (vi)
(vi) Find the sum and product of the roots of equation 2%’ £3gx —4r =0

_éﬂ”uﬁ‘x 2T IS ay=T7 sinyxcx S (vid)
(vi) If yecx and y=7when x =3, findyy in tetmsof x.

(viii) Find a third proportional to : a=%, a-b :’.ép"’ G2 (viiD)
(ix) Define inverse variation. U~ (0
12 3. Write short answers to any SIX (6) questions : : o YN 4 /;; L ey (6){;&)/ 3
(i) What is proper fraction? ?z‘-_(jny// =l (1)
(i1) Resolve into partial fractions : R o ey J:V S Sz (D
(x+1D)(x-3)

ek XUY InY={2,459 » X={1,47,9) J1 (D
(i) 1f =¢1,4,79} and Y={2,4,5,9}, then find X UY

(iv) Findy@, bif (a-4,6-2)=(2,1) (a-4,b-2)=(2,) L& b a (V)
v) If L={a,b,c} thenfindLxL _&c:rr:l”LxL?n LZ{a,bl,c}/l )
(vi) Define subset and give an example. -&Jd"f Jt"f..{lnlg .y S .{J? (vi)
(vii) Define geometric mean. L) Sos b (vii)
(viii) Find the range of the data : 11500, 12400, 15000, 14500, 14800 :ér:l”wtfﬂr (vii)
(iX) What is histogram? el LHE (%)
12 4. Write short answers to any SIX (6) questions : : o =R /ﬁ L Uy (6){;.(5:( 4

(1) Define radian. -éh.gfd'q_:y 6))
(i) Find‘r’, when ¢ =52cm , 0=45° % 0=45° ul £ =52em 2t i (i)
(iii) Prove that : E%wgﬁq=l+tan9 St (D)
(iv)  Write the relation between degree and radian. "/"f—{{}&w-u:d/rjiﬂdlhj Gv)

(2&31} )




)
4. (v) Define tangent of a circle. MR q 3,22 é._.u/Juru'L,,u ) -4

(vi) Define circum circle. zE /’d’ oy 028 (VD)
(vii) Define chord of a circle. : -4’.’4 } 4 I Le s (vid)
(viii) Define central angle. -‘f_”..v Y J S (viil)

(ix) The length of each side of a -éﬂ“’)blb’u’l-ar":’:dl,)p(&‘é:u"f'.ﬁ (ix)

regular octagon is 3 cm. Measure its perimeter.

(PART -l f5.2)

Note : Attempt THREE questions in all. - - 9 ;}dlrcfg .éaylzﬁaﬂlrgf J 0T
But question No.9 is Compulsory.

4 5. (a) Solve the equation by completing square : : &S 4:.5/‘)5; " fents (D) L5
ax*+4x-a=0,a#0
4 -w(ﬁ";ﬂ*u[. (b—c)x2+(c—a)x+(a—b)=0 ..-.«*:L».J/é-.:'f.t‘ (-.,.')
(b) Show that the roots of the equation (b—c)x> +(c—@x+(a—b)=0 are real.
4 8—x:11-x::16-x:25-x :-é(#pfgfx Stls (V) 6
6. (a) Find x in the proportion 8—x:11—x#16 —%"25—x
4 (b) Resolve into partial fractions : 4 —2£_—5— é;}:i Sz (L)
' X" +2x-3
4 B=(2.3.57) sA={ 5%} U={1,234,56780910 .1 (1) .7

CANBY = AU B SZEF IS 9s LS ASn
7. (@) If U={l,245%5%,7,8,9,10},A=(1,3,57,9}and B={2,3,5,7}
then verifyathelPe-Morgan’s law : (AN BY =AU B’
4 (b) Findthestandard deviation "S " : e 'S DA (&)
9,3,8,8,9,8,9,18

4 -é(:h’:.‘gé 0 SFEdLF i sin@ <0 s tant?:% Jr()) 8

8. (@) If tané =§— and sin@ <0, then find values of other trigonometric

functions at & _
4 Ll PRI 5l A 3OS L e )25 ()
(b) Circumscribe a circle with regard to a right angle triangle with sides
3cm,4cmand 5 cm.
8 _;_rm/gnb.’wwu./w J(r,/nsi )/so"’c_,//ci:_/ufé_.-ﬁ .9
9. Prove that a straight line, drawn from the centre of a circle to bisect a chord

( which is not a diameter ) is perpendicular to the chord.
OR

-a..L":’LJ;:c.-d..sfur‘;L /'(Ji Jh/d,lublw.-sbdf/ UIJLLn/"J? ek IJUjfé..ft"
Prove that the measure of a central angle of a minor arc of a circle, is double that
of the angle subtended by the corresponding major arc.
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